

# Gradient estimates, Harnack inequalities and estimates for heat kernels of the sum of squares of vector fields

Huai-Dong Cao<sup>1,\*</sup> and Shing-Tung Yau<sup>2,\*\*</sup>

<sup>1</sup> Department of Mathematics, Columbia University, New York, NY 10027, USA

<sup>2</sup> Department of Mathematics, Harvard University, Cambridge, MA 02138, USA

Received March 4, 1991; in final form December 30, 1991

## 1 Introduction

In this paper we shall study the equations

$$\left(L - \frac{\partial}{\partial t}\right)u(x, t) = 0 \quad (1.1)$$

and

$$Lu(x) = 0 \quad (1.2)$$

associated to the operator  $L = \sum_i X_i^2 - X_0$  on a compact manifold  $M$  with a positive measure  $\mu$ , where  $X_1, X_2, \dots, X_m$  are smooth vector fields on  $M$  and  $X_0 = \sum_i c_i X_i$ . Our main purpose is to prove (Theorem 3.1 and Theorem 3.2) Harnack inequalities for positive solutions of Eq. (1.1) and Eq. (1.2) and to derive (Theorem 4.1) an upper estimate for the fundamental solution of the operator

$$L - \frac{\partial}{\partial t}.$$

Since Hörmander's work [3], many people have investigated various properties of such an operator  $L$  (see, e.g., [2, 4, 11, 12]). Recently Nagel et al. [10] studied the geometries associated to the operator  $L$ . On the other hand, Jerison and Sanchez-Calle [5], Kusuoka and Stroock [6] obtained upper and lower estimates for the heat kernel of  $L - \frac{\partial}{\partial t}$  for small time  $t$ . Similar upper bounds for the heat kernel was also proved by Melrose [9] using the wave equation method. More recently Kusuoka and Stroock [7] have also investigated the long time behavior of the heat kernel of  $L - \frac{\partial}{\partial t}$ .

---

\* Research partially supported by NSF grant no. DMS-87-04209 and DMS-90-04062

\*\* Research partially supported by NSF grant no. DMS-89-08234

One of the standard ways in studying the sum of squares of vector fields is to use Rothschild–Stein lifting and reduce the problem to the model cases. In this paper we shall explore a different approach, the method of gradient estimates. The method of gradient estimates, originated first in Yau [13] and Cheng and Yau [1] and further developed in Li and Yau [8], has been used very successfully in studying elliptic and parabolic operators. In §2 we derive gradient estimates (Theorem 2.1 and Theorem 2.2) for positive solutions of Eq. (1.1) and Eq. (1.2) under the assumption that, for  $1 \leq i, j, k \leq m$ ,  $[X_i, [X_j, X_k]]$  can be expressed as linear combinations of  $X_1, \dots, X_m$  and their brackets  $[X_1, X_2], \dots, [X_{m-1}, X_m]$ . It is not surprising that our gradient estimates are more delicate due to the fact that the operator  $L$  is only weakly elliptic. Once the gradient estimates are derived the proof of Harnack inequalities and the upper estimate for the heat kernel follows essentially the same way as in [8]. These are given in §3 and §4 respectively.

We hope that the method of gradient estimates can be applied to study other problems related to the sum of squares of vector fields and can be extended to any family of vector fields  $X_1, \dots, X_m$  satisfying the more general condition: the commutators of  $X_1, \dots, X_m$  of order  $r$  can be expressed as the linear combinations of  $X_1, \dots, X_m$  and their commutators up to the order  $r - 1$ .

## 2 Gradient estimates

Let  $X_1, X_2, \dots, X_m$  be smooth vector fields on a compact manifold  $M$ . Let

$$L = \sum_i X_i^2 - X_0$$

with

$$X_0 = \sum_i c_i X_i$$

where  $c_i$  are some smooth functions on  $M$ . Our goal in this section is to derive an estimate on the derivatives of positive solutions  $u(x, t)$  on  $M \times [0, \infty)$  of the equation

$$\left( L - \frac{\partial}{\partial t} \right) u(x, t) = 0. \tag{2.1}$$

Throughout this section we shall assume that  $X_1, \dots, X_m$  satisfy the following condition: for  $1 \leq i, j, k \leq m$ ,  $[X_i, [X_j, X_k]]$  can be expressed as linear combinations of  $X_1, \dots, X_m$  and their brackets  $[X_1, X_2], \dots, [X_{m-1}, X_m]$ . i.e., we have

$$[X_i, [X_j, X_k]] = \sum_l a_{ijk}^l X_l + \sum_\alpha b_{ijk}^\alpha Y_\alpha \tag{2.2}$$

where we have set  $\{Y_\alpha\} = \{[X_i, X_j]\}$ ,  $\{a_{ijk}^l\}$  and  $\{b_{ijk}^\alpha\}$  are some functions on  $M$ . Let us denote by

$$\begin{aligned} a &= \max |a_{ijk}^l| & a' &= \max |X_h a_{ijk}^l| \\ b &= \max |b_{ijk}^\alpha| & b' &= \max |X_h b_{ijk}^\alpha| \\ c &= \max |c_i| & c' &= \max \{|X_j c_i|, |Y_\alpha c_i|, |X_j^2 c_i|\}. \end{aligned} \tag{2.3}$$

First we need the following

**Lemma 2.1** *Let  $u(x, t)$  be a positive solution of Eq. (2.1) and  $f = \log u$ . For any given constants  $\frac{1}{2} < \lambda < 1$  and  $\delta > 1$ , the function*

$$F = t \left\{ \sum_j |X_j f|^2 + \sum_\alpha [1 + |Y_\alpha f|^2]^\lambda - \delta(X_0 f + f_t) \right\}$$

satisfies the inequality

$$\begin{aligned} \left( L - \frac{\partial}{\partial t} \right) F &\geq -\frac{F}{t} + \frac{t}{m} \left( \sum_i |X_i f|^2 - X_0 f - f_t \right)^2 + t \sum_{i,j} |X_i X_j f|^2 + \frac{t}{2} \sum_\alpha |Y_\alpha f|^2 \\ &\quad + 2\lambda(2\lambda - 1)t \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2 + 2t \sum_i X_i f [L, X_i] f \\ &\quad - \delta t [L, X_0] f + 2\delta t \sum_i X_i f [X_i, X_0] f \\ &\quad + 2\lambda t \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f [L, Y_\alpha] f \\ &\quad + 4\lambda t \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} X_i f Y_\alpha f [X_i, Y_\alpha] f - 2 \sum_i X_i f X_i F. \end{aligned}$$

*Proof.* Differentiating  $F$  in the direction of  $X_0$ , we have

$$\begin{aligned} X_0 F &= t \left\{ 2 \sum_j X_j f X_0 X_j f + 2\lambda \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f X_0 Y_\alpha f \right. \\ &\quad \left. - \delta(X_0^2 f + X_0 f_t) \right\}. \end{aligned} \quad (2.4)$$

Similarly, for  $i = 1, 2, \dots, m$ , we have

$$\begin{aligned} X_i F &= t \left\{ 2 \sum_j X_j f X_i X_j f + 2\lambda \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f X_i Y_\alpha f \right. \\ &\quad \left. - \delta(X_i X_0 f + X_i f_t) \right\}. \end{aligned} \quad (2.5)$$

Differentiating (2.5) once more in the direction  $X_i$  and summing over  $i = 1, \dots, m$ , we get

$$\begin{aligned} \sum_i X_i^2 F &= t \left\{ 2 \sum_{i,j} |X_i X_j f|^2 + 2 \sum_{i,j} X_j f X_j (X_i^2 f) + 2 \sum_{i,j} X_j f [X_i^2, X_j] f \right. \\ &\quad + 2\lambda \sum_{i,\alpha} [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f [X_i^2, Y_\alpha] f \\ &\quad + 2\lambda \sum_{i,\alpha} [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f Y_\alpha (X_i^2 f) \\ &\quad + 2\lambda \sum_{i,\alpha} [1 + |Y_\alpha f|^2]^{\lambda-2} (X_i Y_\alpha f)^2 [1 + (2\lambda - 1)|Y_\alpha f|^2] \\ &\quad \left. - \delta \left( \sum_i X_i^2 X_0 f + \sum_i X_i^2 f_t \right) \right\}. \end{aligned} \quad (2.6)$$

On the other hand, we have

$$F_t = \frac{F}{t} + t \left\{ 2 \sum_j X_j f X_j f_t + 2\lambda \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f Y_\alpha f_t - \delta(X_0 f_t + f_{it}) \right\}. \tag{2.7}$$

Combining (2.4), (2.6) and (2.7), we obtain

$$\begin{aligned} \left(L - \frac{\partial}{\partial t}\right) F &= -\frac{F}{t} + t \left\{ 2 \sum_{i,j} |X_i X_j f|^2 + 2 \sum_j X_j f X_j \left(L - \frac{\partial}{\partial t}\right) f \right. \\ &\quad + 2 \sum_j X_j f [L, X_j] f - \delta[L, X_0] f \\ &\quad + 2\lambda \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f [L, Y_\alpha] f \\ &\quad + 2\lambda \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f Y_\alpha \left(L - \frac{\partial}{\partial t}\right) f \\ &\quad + 2\lambda \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-2} (X_i Y_\alpha f)^2 [1 + (2\lambda - 1) |Y_\alpha f|^2] \\ &\quad \left. - \delta X_0 \left(L - \frac{\partial}{\partial t}\right) f - \delta \frac{\partial}{\partial t} \left(L - \frac{\partial}{\partial t}\right) f \right\}. \end{aligned} \tag{2.8}$$

Notice that  $f = \log u$  satisfies the equation

$$\left(L - \frac{\partial}{\partial t}\right) f = -\sum_i (X_i f)^2. \tag{2.9}$$

Also

$$\begin{aligned} \sum_{i,j} |X_i X_j f|^2 &= \sum_i |X_i^2 f|^2 + \sum_{i \neq j} |X_i X_j f|^2 \\ &\geq \frac{1}{m} \left(\sum_i X_i^2 f\right)^2 + \frac{1}{2} \sum_\alpha |Y_\alpha f|^2 \\ &= \frac{1}{m} \left(\sum_i |X_i f|^2 - X_0 f - f_t\right)^2 + \frac{1}{2} \sum_\alpha |Y_\alpha f|^2. \end{aligned} \tag{2.10}$$

Moreover, by (2.4), (2.5), (2.9) and direct computation, we get

$$\begin{aligned} &t \left\{ 2 \sum_j X_j f X_j \left(L - \frac{\partial}{\partial t}\right) f + 2\lambda \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f Y_\alpha \left(L - \frac{\partial}{\partial t}\right) f \right. \\ &\quad \left. - \delta X_0 \left(L - \frac{\partial}{\partial t}\right) f - \delta \frac{\partial}{\partial t} \left(L - \frac{\partial}{\partial t}\right) f \right\} \\ &= -2 \sum_i X_i F X_i f + 2\delta t \sum_i X_i f [X_i, X_0] f \\ &\quad + 4\lambda t \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} X_i f Y_\alpha f [X_i, Y_\alpha] f. \end{aligned} \tag{2.11}$$

Plugging (2.9), (2.10) and (2.11) into (2.8) we obtain Lemma 2.1.

For later purpose we are going to compute certain terms that appear in Lemma 2.1. First

$$[X_0, X_j]f = \sum_i c_i [X_i, X_j]f - \sum_i (X_j c_i) X_i f$$

and

$$\begin{aligned} [L, X_j]f &= \sum_i [X_i^2, X_j]f + [X_0, X_j]f \\ &= \sum_i \{X_i [X_i, X_j]f + [X_i, X_j] X_i f\} + [X_0, X_j]f \\ &= 2 \sum_i X_i [X_i, X_j]f - \sum_i [X_i, [X_i, X_j]]f + [X_0, X_j]f. \end{aligned}$$

From (2.2) and (2.3) we have

$$\begin{aligned} |[L, X_j]f| &\leq 2 \sum_i |[X_i [X_i, X_j]f]| + (ma + c') \sum_i |X_i f| \\ &\quad + (mb + c) \sum_\alpha |Y_\alpha f| \end{aligned} \quad (2.12)$$

and

$$|[X_0, X_j]f| \leq c \sum_\alpha |Y_\alpha f| + c' \sum_i |X_i f|. \quad (2.13)$$

Similarly

$$\begin{aligned} |[L, Y_\alpha]f| &\leq \left| \sum_i X_i [X_i, Y_\alpha]f \right| + \left| \sum_i [X_i, Y_\alpha] X_i f \right| + |[X_0, Y_\alpha]f| \\ &\leq 2a \sum_{i,j} |X_i X_j f| + 2b \sum_{i,\beta} |X_i Y_\beta f| + c \sum_i |[X_i, Y_\alpha]f| \\ &\quad + (ma' + C_4 ab + c') \sum_i |X_i f| + (mb' + C_5 b^2) \sum_\alpha |Y_\alpha f|. \end{aligned} \quad (2.14)$$

Also

$$|[X_i, Y_\alpha]f| \leq a \sum_j |X_j f| + b \sum_\beta |Y_\beta f|. \quad (2.15)$$

Finally

$$\begin{aligned} |[L, X_0]f| &= \left| \sum_i [X_i^2, X_0]f \right| \\ &= \left| \sum_{i,j} c_j [X_i^2, X_j]f + (X_i^2 c_j) X_j f \right| \\ &\leq 2c \sum_{i,j} |X_i [X_i, X_j]f| + (ma + c') \sum_i |X_i f| + mb \sum_\alpha |Y_\alpha f|. \end{aligned} \quad (2.16)$$

Now we are ready to present our first result in this section.

**Proposition 2.1** *Let  $u(x, t)$  be a positive solution of Eq. (2.1) on  $M \times [0, \infty)$ . Then for  $1/2 < \lambda < 2/3$ , there exists a constant  $\delta_0 = \delta_0(\lambda) > 1$  such that for any  $\delta > \delta_0$  and  $t > 0$ ,  $u(x, t)$  satisfies the estimate*

$$\frac{1}{u^2} \sum_i |X_i u|^2 + \sum_\alpha \left( 1 + \frac{1}{u^2} |Y_\alpha u|^2 \right)^\lambda - \delta \frac{X_0 u}{u} - \delta \frac{u_t}{u} \leq C_1 t^{-1} + C_2 + C_3 t^{\frac{\lambda}{\lambda-1}} \tag{2.17}$$

where  $C_1, C_2$  and  $C_3$  are positive constants depending only on  $m, \delta, \lambda, a, a', b, b', c, c'$ .

*Proof.* Consider the function

$$F = t \left\{ \sum_j |X_j f|^2 + \sum_\alpha [1 + |Y_\alpha f|^2]^\lambda - \delta(X_0 f + f_t) \right\}, \quad t \geq 0$$

where

$$f = \log u.$$

We claim that there exist positive constants  $C_1, C_2$  and  $C_3$  such that

$$F \leq C_1 + C_2 t + C_3 t^{\frac{2\lambda-1}{\lambda-1}}. \tag{2.18}$$

If not, then for arbitrary such  $C_1, C_2$  and  $C_3$  we have

$$F > C_1 + C_2 t + C_3 t^{\frac{2\lambda-1}{\lambda-1}} \tag{2.19}$$

at the maximum point  $(x_0, t_0)$  of  $F$  on  $M \times [0, T]$  for some  $T > 0$ . Clearly,  $t_0 > 0$ , since  $F(x, 0) = 0$  by its definition. Then at  $(x_0, t_0)$ , we have

$$X_i F = 0, \quad \text{for } i = 1, 2, \dots, m$$

$$\frac{\partial F}{\partial t} \geq 0,$$

and

$$L F \leq 0.$$

Applying Lemma 2.1 to  $F$  and evaluating at  $(x_0, t_0)$ , we get

$$\begin{aligned} 0 &\geq \left( L - \frac{\partial}{\partial t} \right) F(x_0, t_0) \\ &\geq -\frac{F}{t_0} + \frac{t_0}{m} \left( \sum_i |X_i f|^2 - X_0 f - f_t \right)^2 + t_0 \sum_{i,j} |X_i X_j f|^2 + \frac{t_0}{2} \sum_\alpha |Y_\alpha f|^2 \\ &\quad + 2\lambda(2\lambda - 1)t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2 + 2t_0 \sum_i X_i f [L, X_i] f \\ &\quad - \delta t_0 [L, X_0] f + 2\delta t_0 \sum_i X_i f [X_i, X_0] f \\ &\quad + 2\lambda t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f [L, Y_\alpha] f \\ &\quad + 4\lambda t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} X_i f Y_\alpha f [X_i, Y_\alpha] f. \end{aligned}$$

By the estimates (2.12)–(2.16) we see that at  $(x_0, t_0)$ ,

$$\begin{aligned}
 0 \geq & -\frac{F}{t_0} + \frac{t_0}{m} \left( \sum_i |X_i f|^2 - X_0 f - f_t \right)^2 + t_0 \sum_{i,j} |X_i X_j f|^2 + \frac{t_0}{2} \sum_\alpha |Y_\alpha f|^2 \\
 & + 2\lambda(2\lambda - 1)t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2 - 4t_0 \sum_{i,j} |X_i f| |X_j [X_j, X_i] f| \\
 & - 2(ma + c' + \delta c')t_0 \left( \sum_i |X_i f| \right)^2 - 2(mb + c + \delta c)t_0 \sum_i |X_i f| \sum_\alpha |Y_\alpha f| \\
 & - 2c\delta \sum_{i,j} |X_i [X_i, X_j] f| - \delta(m^2 a + mc') \sum_i |X_i f| \\
 & - \delta(m^2 b + mc) \sum_\alpha |Y_\alpha f| - 4a\lambda t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \sum_{i,j} |X_i X_j f| \\
 & - 4b\lambda t_0 \sum_{\alpha,i,\beta} [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| |X_i Y_\beta f| \\
 & - 2(ma' + C_4 ab + c')\lambda t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \sum_i |X_i f| \\
 & - 2(mb' + C_5 b^2)\lambda t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \sum_\beta |Y_\beta f| \\
 & - 4a\lambda t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \left( \sum_i |X_i f| \right)^2 \\
 & - 4b\lambda t_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \sum_i |X_i f| \sum_\beta |Y_\beta f|. \tag{2.20}
 \end{aligned}$$

We need to estimate the right hand side of (2.20). In the following, inequalities of the type

$$xy \leq ax^2 + \frac{1}{4a} y^2 \quad (a > 0)$$

will be used repeatedly. First

$$\begin{aligned}
 \sum_{i,j} |X_i f| |X_j [X_j, X_i] f| & \leq \sum_{i,j,\alpha} |X_i f| |X_j Y_\alpha f| \\
 & = \sum_{\alpha,j} \left( \sum_i |X_i f| \right) [1 + |Y_\alpha f|^2]^{\frac{1-\lambda}{2}} \\
 & \quad \times [1 + |Y_\alpha f|^2]^{\frac{\lambda-1}{2}} |X_j Y_\alpha f| \\
 & \leq \frac{m}{\lambda(2\lambda - 1)} \left( \sum_i |X_i f| \right)^2 \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\frac{1-\lambda}{2}} \right)^2 \\
 & \quad + \frac{\lambda(2\lambda - 1)}{4} \sum_{\alpha,i} [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2 \tag{2.21}
 \end{aligned}$$

Hence

$$\begin{aligned} \sum_{i,j} |X_i f| |X_j [X_j, X_i] f| &\leq \varepsilon \left( \sum_i |X_i f|^2 \right)^2 + m^2 \varepsilon^{-1} (2\lambda - 1)^{-2} \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\frac{1-\lambda}{2}} \right)^4 \\ &\quad + \frac{\lambda(2\lambda - 1)}{4} \sum_{\alpha,i} [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2 \end{aligned} \tag{2.22}$$

where  $\varepsilon > 0$  is some constant to be determined.

Similarly

$$\begin{aligned} 2c\delta \sum_{i,j} |X_i [X_i, X_j] f| &\leq \frac{2mc\delta}{\lambda(2\lambda - 1)} \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\frac{1-\lambda}{2}} \right)^2 \\ &\quad + \frac{\lambda(2\lambda - 1)}{2} \sum_{\alpha,i} [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2 \end{aligned} \tag{2.23}$$

$$\begin{aligned} 2(mb + c + \delta c) \sum_i |X_i f| \sum_\alpha |Y_\alpha f| &\leq 16(mb + c + \delta c)^2 \left( \sum_i |X_i f| \right)^2 \\ &\quad + \frac{1}{16} \left( \sum_\alpha |Y_\alpha f| \right)^2 \end{aligned} \tag{2.24}$$

and

$$\begin{aligned} 4a \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \sum_{i,j} |X_i X_j f| \\ &\leq \frac{1}{m^2} \sum_{i,j} |X_i X_j f|^2 + 4a^2 m^2 \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^2 \\ &\leq \sum_{i,j} |X_i X_j f|^2 + 4a^2 m^2 \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^2. \end{aligned} \tag{2.25}$$

We also have

$$\begin{aligned} 4b \sum_{\alpha,i,\beta} [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| |X_i Y_\beta f| \\ &\leq 8mb^2 (2\lambda - 1)^{-1} \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^2 \left( \sum_\beta [1 + |Y_\beta f|^2]^{\frac{1-\lambda}{2}} \right)^2 \\ &\quad + \frac{(2\lambda - 1)}{2} \sum_{\alpha,i} [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f| \end{aligned} \tag{2.26}$$

and

$$\begin{aligned} 4a \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \left( \sum_i |X_i f| \right)^2 \\ &\leq \frac{\varepsilon}{m^2} \left( \sum_i |X_i f| \right)^4 + 4m^2 a^2 \varepsilon^{-1} \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^2 \\ &\leq \varepsilon \left( \sum_i |X_i f|^2 \right)^2 + 4m^2 a^2 \varepsilon^{-1} \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^2. \end{aligned} \tag{2.27}$$



Finally

$$\begin{aligned}
 & 4b \sum_{\alpha} [1 + |Y_{\alpha}f|^2]^{\lambda-1} |Y_{\alpha}f| \sum_i |X_i f| \sum_{\beta} |Y_{\beta}f| \\
 & \leq 64m^2b^2 \left( \sum_i |X_i f| \right)^2 \left( \sum_{\alpha} [1 + |Y_{\alpha}f|^2]^{\lambda-1} |Y_{\alpha}f| \right)^2 + \frac{1}{16m^2} \left( \sum_{\beta} |Y_{\beta}f| \right)^2 \\
 & \leq \frac{\varepsilon}{m^2} \left( \sum_i |X_i f| \right)^4 + C_6 b^4 \varepsilon^{-1} \left( \sum_{\alpha} [1 + |Y_{\alpha}f|^2]^{\lambda-1} |Y_{\alpha}f| \right)^4 + \frac{1}{16} \sum_{\beta} |Y_{\beta}f|^2 \\
 & \leq \varepsilon \left( \sum_i |X_i f|^2 \right)^2 + C_6 b^4 \varepsilon^{-1} \left( \sum_{\alpha} [1 + |Y_{\alpha}f|^2]^{\lambda-1} |Y_{\alpha}f| \right)^4 + \frac{1}{16} \sum_{\beta} |Y_{\beta}f|^2.
 \end{aligned} \tag{2.28}$$

We have to divide our discussion into two cases.

Case 1

$$\sum_i |X_j f|^2 - \frac{\delta}{\delta_0} (X_0 f + f_i) > 0 \tag{2.29}$$

where  $\delta_0 > 1$  is some fixed constant to be chosen and  $\delta > \delta_0$ .

In this case we observe that

$$\begin{aligned}
 \left( \sum_j |X_j f|^2 - X_0 f - f_i \right)^2 &= \left\{ \frac{\delta_0}{\delta} \left( \sum_j |X_j f|^2 - \frac{\delta}{\delta_0} (X_0 f + f_i) \right) + \left( 1 - \frac{\delta_0}{\delta} \right) \sum_j |X_j f|^2 \right\}^2 \\
 &\geq \frac{1}{\delta^2} \left( \delta_0 \sum_j |X_j f|^2 - \delta (X_0 f + f_i) \right)^2 + \frac{(\delta - \delta_0)^2}{\delta^2} \left( \sum_j |X_j f|^2 \right)^2.
 \end{aligned} \tag{2.30}$$

Plug (2.22)–(2.28) and (2.30) into (2.20) and compute. We obtain, at  $(x_0, t_0)$ ,

$$\begin{aligned}
 0 &\geq -\frac{F}{t_0} + \frac{t_0}{m\delta^2} \left( \delta_0 \sum_i |X_i f|^2 - \delta (X_0 f + f_i) \right)^2 + \frac{(\delta - \delta_0)^2}{m\delta^2} t_0 \left( \sum_j |X_j f|^2 \right)^2 \\
 &\quad + \frac{3t_0}{8} \sum_{\alpha} |Y_{\alpha}f|^2 - 6\epsilon t_0 \left( \sum_i |X_i f|^2 \right)^2 \\
 &\quad - 4m^2 \varepsilon^{-1} (2\lambda - 1)^{-2} t_0 \left( \sum_{\alpha} [1 + |Y_{\alpha}f|^2]^{\frac{1-\lambda}{2}} \right)^4 \\
 &\quad - C_6 t_0 \left( \sum_i |X_i f| \right)^2 - \frac{2mc\delta}{\lambda(2\lambda - 1)} t_0 \left( \sum_{\alpha} [1 + |Y_{\alpha}f|^2]^{\frac{1-\lambda}{2}} \right)^2 \\
 &\quad - \delta(m^2 a + mc') t_0 \sum_i |X_i f| - \delta(m^2 b + mc) t_0 \sum_{\alpha} |Y_{\alpha}f| \\
 &\quad - 8mb^2 (2\lambda - 1)^{-1} t_0 \left( \sum_{\alpha} [1 + |Y_{\alpha}f|^2]^{\lambda-1} |Y_{\alpha}f| \right)^2 \left( \sum_{\beta} [1 + |Y_{\beta}f|^2]^{\frac{1-\lambda}{2}} \right)^2
 \end{aligned}$$

$$\begin{aligned}
 & - 2(mb' + C_5b^2 + mbc)t_0 \sum_{\alpha, \beta} [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| |Y_\beta f| \\
 & - C_6b^4\varepsilon^{-1} \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^4 \\
 & - C_9t_0 \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^2.
 \end{aligned} \tag{2.31}$$

Let us denote

$$x = \delta_0 \sum_i |X_i f|^2 - \delta(X_0 f + f_i)$$

and

$$y = \max |Y_\alpha f|.$$

Without loss of generality we may assume that  $y > 1$ . Then (2.31) becomes

$$\begin{aligned}
 0 \geq & -\frac{F}{t_0} + \frac{t_0}{m\delta^2} x^2 + \frac{t_0}{4} y^2 + t_0 \left\{ \frac{(\delta - \delta_0)^2}{m\delta^2} \left( \sum_j |X_j f|^2 \right)^2 - 6\varepsilon \left( \sum_j |X_j f|^2 \right)^2 \right. \\
 & \left. - \delta(m^2 a + mc') \sum_i |X_i f| - C_6 \sum_i |X_i f|^2 \right\} \\
 & + t_0 \left\{ \frac{1}{8} y^2 - C_7 y^{4(1-\lambda)} - C_8 y^{2(1-\lambda)} - C_9 y^{2(2\lambda-1)} - C_{10} y^{4(2\lambda-1)} \right. \\
 & \left. - C_{11} y^{2\lambda} - C_{12} y \right\},
 \end{aligned} \tag{2.32}$$

where  $C_i, i = 6, 7, \dots, 12$  are positive constants depending on  $m, a, a', b, b', c, c', \delta, \lambda$ .

From the fact that  $z^2$  grows faster than  $z^a$  for  $0 < a < 2$  and the assumption that  $1/2 < \lambda < 2/3$ , we see that there exists a constant  $C_{13}$  such that the last two terms in (2.32) are bounded from below by  $-C_{13}t_0$  provided we choose  $\varepsilon < (\delta - \delta_0)^2/12m\delta^2$ .

Therefore we obtain the following inequality:

$$0 \geq \frac{-F}{t_0} + \frac{t_0}{m\delta^2} x^2 + \frac{t_0}{4} y^2 - C_{13}t_0. \tag{2.33}$$

At  $(x_0, t_0)$ , we have either

$$x = \delta_0 \sum_i |X_i f|^2 - \delta(X_0 f + f_i) \geq \sum_\alpha [1 + |Y_\alpha f|^2]^\lambda$$

or

$$\sum_\alpha [1 + |Y_\alpha f|^2]^\lambda \geq x.$$

In the first case we get, from (2.33),

$$0 \geq -2t_0x + \frac{t_0^2}{m\delta^2} x^2 - C_{13}t_0^2.$$

This implies that

$$t_0 x \leq 2m\delta^2 + C_{14}t_0 .$$

Since  $\delta_0 > 1$ , we have

$$F \leq t_0 x + t_0 \sum_{\alpha} [1 + |Y_{\alpha} f|^2]^{\lambda} \leq 2t_0 x \leq 4m\delta^2 + Ct_0 \tag{2.34}$$

for some constant  $C$  depending on  $m, \lambda, \delta, a, a', b, b', c, c'$ . This is a contradiction to (2.19).

In the second case we have

$$0 \geq -2C_{15}y^{2\lambda} + \frac{t_0}{4}y^2 - C_{13}t_0 . \tag{2.35}$$

(i) If  $t_0 < 1$  then we must have

$$y \leq C_2 t_0^{\frac{1}{2(\lambda-1)}} .$$

Hence

$$t_0 y^{2\lambda} \leq C_2 t_0^{\frac{2\lambda-1}{\lambda-1}} ;$$

(ii) If  $t_0 \geq 1$  then

$$0 \geq -2C_{15}t_0 y^{2\lambda} + \frac{t_0}{4}y^2 - C_{13}t_0 .$$

Therefore

$$0 \geq -2C_{15}y^{2\lambda} + \frac{y^2}{4} - C_{13} .$$

This implies that

$$y \leq C_{16}$$

and

$$t_0 y^{2\lambda} \leq C_{17}t_0$$

for some constant  $C_{17}$ . So we conclude that, for  $t_0 > 0$ ,

$$t_0 \sum_{\alpha} [1 + |Y_{\alpha} f|^2]^{\lambda} \leq C_{18}t_0 y^{2\lambda} \leq C_{19}t_0 + C_{20}t_0^{\frac{2\lambda-1}{\lambda-1}} .$$

It follows that

$$F \leq 2t_0 \sum_{\alpha} [1 + |Y_{\alpha} f|^2]^{\lambda} \leq C_2 t_0 + C_3 t_0^{\frac{2\lambda-1}{\lambda-1}}$$

for some positive constants  $C_2$  and  $C_3$  depending on  $m, \lambda, \delta, a, a', b, b', c, c'$ , again contradicting (2.19). Together with (2.34) this shows that (2.18) holds under the assumption (2.29).

Case 2

$$\sum_i |X_j f|^2 - \frac{\delta}{\delta_0} (X_0 f + f_i) \leq 0 .$$

In this case we may assume that

$$(\delta_0 - 1) \sum_i |X_i f|^2 \leq \sum_\alpha [1 + |Y_\alpha f|^2]^\lambda. \tag{2.36}$$

Otherwise (2.18) follows trivially, since

$$\begin{aligned} F &= t_0 \left\{ \sum_i |X_i f|^2 + \sum_\alpha [1 + |Y_\alpha f|^2]^\lambda - \delta(X_0 f + f_i) \right\} \\ &\leq t_0 \left\{ \delta_0 \sum_i |X_i f|^2 - \delta(X_0 f + f_i) \right\} \\ &= \delta_0 t_0 \left\{ \sum_i |X_i f|^2 - \frac{\delta}{\delta_0} (X_0 f + f_i) \right\} \leq 0. \end{aligned}$$

Plugging (2.2), (2.23)–(2.26) into (2.20) and using (2.36) we obtain, at  $(x_0, t_0)$ ,

$$\begin{aligned} 0 &\geq -\frac{F}{t_0} + \frac{3t_0}{8} \sum_\alpha |Y_\alpha f|^2 - \frac{4m}{\lambda(2\lambda - 1)} t_0 \left( \sum_i |X_i f|^2 \right)^2 \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\frac{1-\lambda}{2}} \right)^2 \\ &\quad - C_6 t_0 \left( \sum_i |X_i f|^2 \right)^2 - \frac{2mc\delta}{\lambda(2\lambda - 1)} t_0 \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\frac{1-\lambda}{2}} \right)^2 \\ &\quad - \delta(m^2 a + mc') t_0 \sum_i |X_i f| \\ &\quad - \delta(m^2 b + mc) t_0 \sum_\alpha |Y_\alpha f| - C_9 t_0 \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^2 \\ &\quad - 8mb^2(2\lambda - 1)^{-1} t_0 \left( \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \right)^2 \left( \sum_\beta [1 + |Y_\beta f|^2]^{\frac{1-\lambda}{2}} \right)^2 \\ &\quad - 2(mb' + C_5 b^2 + mbc) t_0 \sum_{\alpha, \beta} [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| |Y_\beta f| \\ &\quad - 4at_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \left( \sum_i |X_i f|^2 \right)^2 \\ &\quad - 4bt_0 \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |Y_\alpha f| \sum_i |X_i f| \sum_\beta |Y_\beta f| \\ &\geq -\frac{F}{t_0} + \frac{t_0}{4} y^2 + t_0 \left\{ \frac{1}{8} y^2 - \frac{C_{21}}{(\delta_0 - 1)} y^2 - C_{22} y^{2\lambda} - \delta C_{23} y^{2(1-\lambda)} - \delta C_{24} y^\lambda \right. \\ &\quad \left. - \delta C_{25} y - C_{26} y^{2(2\lambda-1)} - C_{27} y^{4\lambda-1} - C_{28} y^{3\lambda} \right\} \tag{2.37} \end{aligned}$$

where  $C_{21}$  is a positive constant depending only on  $\lambda$  and  $m$ .

Choose  $\delta_0$  so that  $\delta_0 \geq 16C_{21} + 1$  then for  $1/2 < \lambda < 2/3$  there exists some constant  $C_{29}$  such that the last term in (2.37) is bounded by  $-C_{29}t_0$ . Therefore, at  $(x_0, t_0)$ ,

$$0 \geq -\frac{F}{t_0} + \frac{t_0}{4} y^2 - C_{29}t_0 \geq -C_{15}y^{2\lambda} + \frac{t_0}{4} y^2 - C_{29}t_0.$$

Then the same argument as in treating (2.35) implies (2.18). Thus the proof of Proposition 2.1 is completed.

For small  $t$  we have a slightly different estimate

**Proposition 2.2** For  $0 < t \leq 1$  and  $1/2 < \lambda < 2/3$ , there exists a constant  $C$  such that

$$\frac{1}{u^2} \sum_i |X_i u|^2 + t^{2\lambda-1} \sum_\alpha \left(1 + \frac{1}{u^2} |Y_\alpha u|^2\right)^\lambda - \delta \frac{X_0 u}{u} - \delta \frac{u_i}{u} \leq C t^{-1}.$$

*Proof.* The argument is essentially the same as in the proof of Proposition 2.1. In this case we consider instead the function

$$F = F_1 + F_2 = t \left\{ \sum_j |X_j f|^2 - \delta(X_0 f + f_i) \right\} + t^{2\lambda} \sum_\alpha [1 + |Y_\alpha f|^2]^\lambda$$

with  $1/2 < \lambda < 2/3$ .

At the maximum point  $(x_0, t_0)$  for  $F$  on  $M \times [0, 1]$  we have the following inequality

$$\begin{aligned} 0 &\geq \left(L - \frac{\partial}{\partial t}\right) F(x_0, t_0) \\ &\geq -\frac{F_1}{t_0} - \frac{2\lambda F_2}{t_0} + \frac{t_0}{m} \left(\sum_i |X_i f|^2 - X_0 f - f_i\right)^2 \\ &\quad + t_0 \sum_{i,j} |X_i X_j f|^2 + \frac{t_0}{2} \sum_\alpha |Y_\alpha f|^2 \\ &\quad + 2\lambda(2\lambda - 1)t_0^{2\lambda} \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2 + 2t_0 \sum_i X_i f [L, X_i] f \\ &\quad + 2\lambda t_0^{2\lambda} \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} Y_\alpha f [L, Y_\alpha] f \\ &\quad + 4\lambda \varepsilon t_0^{2\lambda} \sum_\alpha [1 + |Y_\alpha f|^2]^{\lambda-1} X_i f Y_\alpha f [X_i, Y_\alpha] f. \end{aligned}$$

For case 1, all we need to modify are the estimates (2.22) and (2.23). We have instead

$$\begin{aligned} \sum_{i,j} |X_i f| |X_j [X_j, X_i] f| &\leq \sum_{i,j,\alpha} |X_i f| |X_j Y_\alpha f| \\ &\leq \varepsilon \left(\sum_i |X_i f|^2\right)^2 + m^2 \varepsilon^{-1} (2\lambda - 1)^{-2} t_0^{2-4\lambda} \left(\sum_\alpha [1 + |Y_\alpha f|^2]^{\frac{1-\lambda}{2}}\right)^4 \\ &\quad + \frac{\lambda(2\lambda - 1)}{4} t_0^{2\lambda-1} \sum_{\alpha,i} [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2, \end{aligned}$$

and

$$\begin{aligned} 2c\delta \sum_{i,j} |X_i [X_i, X_j] f| &\leq \frac{2mc\delta}{\lambda(2\lambda - 1)} t_0^{1-2\lambda} \left(\sum_\alpha [1 + |Y_\alpha f|^2]^{\frac{1-\lambda}{2}}\right)^2 \\ &\quad + \frac{\lambda(2\lambda - 1)}{2} t_0^{2\lambda-1} \sum_{\alpha,i} [1 + |Y_\alpha f|^2]^{\lambda-1} |X_i Y_\alpha f|^2. \end{aligned}$$

Corresponding to (2.33), we have

$$\begin{aligned}
 0 \geq & -\frac{F_1}{t_0} - \frac{2\lambda F_2}{t_0} + \frac{t_0}{m\delta^2}x^2 + \frac{t_0}{4}y^2 - C_{30}t_0^{3-4\lambda}y^{4-4\lambda} \\
 & - C_{31}t_0^{2-2\lambda}y^{2-2\lambda} - C_{32}t_0
 \end{aligned} \tag{2.38}$$

because  $t_0 \leq 1$ .

Multiplying  $t_0$  to (2.38), we get

$$\begin{aligned}
 0 \geq & -t_0x - C_{33}(t_0y)^{2\lambda} + \frac{t_0^2}{m\delta^2}x^2 + \frac{t_0^2}{4}y^2 - C_{30}(t_0y)^{4-4\lambda} \\
 & - C_{31}(t_0y)^{2-2\lambda} - C_{32}t_0^2.
 \end{aligned}$$

Since  $1/2 < \lambda < 2/3$ , there exists a positive constant  $C_{34}$  such that

$$\frac{t_0^2}{4}y^2 - C_{33}(t_0y)^{2\lambda} - C_{30}(t_0y)^{4-4\lambda} - C_{31}(t_0y)^{2-2\lambda} \leq -C_{34}.$$

Hence

$$0 \geq -t_0x + \frac{t_0^2}{m\delta^2}x^2 - C_{35}.$$

It follows that  $F \leq C'$  for some positive constant  $C'$ .

For case 2 the modification is similar and we again have  $F \leq C'$ . This finishes the proof of Proposition 2.2.

Combining Proposition 2.1 with Proposition 2.2, we obtain the following main result of this section.

**Theorem 2.1** *Let  $X_1, X_2, \dots, X_m$  be smooth vector fields on a compact manifold  $M$  satisfying the condition (2.2). Then there exists a constant  $\delta_0 > 1$  such that for any positive solution  $u(x, t)$  of Eq. (1.1) on  $M \times [0, \infty)$ , any  $\delta > \delta_0$  and  $t > 0$ , we have the estimate*

$$\frac{1}{u^2} \sum_i |X_i u|^2 - \delta \frac{X_0 u}{u} - \delta \frac{u_t}{u} \leq C'_1 t^{-1} + C'_2$$

where  $C'_1$  and  $C'_2$  are positive constants depending on  $m, \delta_0, \delta, a, a', b, b', c, c'$ .

For positive solutions of Eq. (1.2) we have

**Theorem 2.2** *Let  $u(x, t)$  be a positive solution of the equation*

$$Lu(x) = 0$$

on  $M$ . Then for  $0 < \lambda < 2/3$ , there exists a constant  $\delta_0 = \delta_0(\lambda)$  such that for any  $\delta > \delta_0$ ,  $u(x)$  satisfies the estimate

$$\frac{1}{u^2} \sum_i |X_i u|^2 + \sum_\alpha \left[ 1 + \frac{1}{u^2} |Y_\alpha u|^2 \right]^\lambda - \delta \frac{X_0 u}{u} \leq C'_3$$

where  $C'_3$  is a positive constant depending on  $m, \lambda, \delta, a, a', b, b', c, c'$ .

The proof of Theorem 2.2 follows from Proposition 2.1.

### 3 Harnack inequalities

In this section we shall derive Harnack inequalities for positive solutions of Eq. (1.1) and Eq. (1.2). Let  $X_1, \dots, X_m$  be smooth vector fields on a compact manifold  $M$  with a positive measure  $\mu$ . We assume that  $X_1, \dots, X_m$  satisfy Hörmander's condition: the vector fields  $X_1, \dots, X_m$  together with their commutators up to certain finite order  $r$  span the tangent space at every point of  $M$ .

In this case there is a natural distance  $d(x, y)$  on  $M$  associated to the operator  $L$ :

$$d(x, y) = \inf\{b \mid \exists \text{ an admissible curve } \gamma: [0, b] \rightarrow M \text{ with } \gamma(0) = x, \gamma(b) = y\} \tag{3.1}$$

where an admissible curve  $\gamma$  is a Lipschitz curve such that

$$\gamma'(s) = \sum_i a_i(s) X_i(\gamma(s))$$

for some functions  $a_i(s)$  satisfying  $\sum_i a_i(s)^2 \leq 1$ . Balls for the metric  $d$  are denoted by

$$B_x(r) = \{y \in M \mid d(x, y) < r\}. \tag{3.2}$$

**Theorem 3.1** *Let  $X_1, X_2, \dots, X_m$  be smooth vector fields on a compact manifold  $M$  satisfying the condition (2.2) and Hörmander's condition. Then there exists a constant  $\delta_0 > 1$  such that for any positive solution  $u(x, t)$  of Eq. (1.1) on  $M \times [0, \infty)$  and any  $\delta > \delta_0, 0 < t_1 < t_2$ , and  $x, y \in M$ , we have*

$$u(x, t_1) \leq u(y, t_2) \left(\frac{t_2}{t_1}\right)^{C_4} \exp\left(\frac{\delta}{2(t_2 - t_1)} d^2(x, y) + C_5(t_2 - t_1)\right),$$

where  $C_4$  and  $C_5$  are positive constants depending on  $m, \delta_0, \delta, a, a', b, b', c, c'$ .

*Proof.* Let  $\gamma$  be an admissible curve given by  $\gamma: [0, b] \rightarrow M$ , with  $\gamma(0) = y$  and  $\gamma(b) = x$ . We define  $\eta: [0, b] \rightarrow M \times [t_1, t_2]$  by

$$\eta(s) = \left(\gamma(s), \frac{(b - s)t_2 + st_1}{b}\right).$$

Clearly  $\eta(0) = (y, t_2)$  and  $\eta(b) = (x, t_1)$ . Integrating  $(d/ds)(\log u)$  along  $\gamma$ , we have

$$\begin{aligned} \log u(x, t_1) - \log u(y, t_2) &= \int_0^b \left(\frac{d}{ds} \log u\right) ds \\ &= \int_0^b \left\{ \sum_i a_i X_i \log u - \frac{(t_2 - t_1)}{b} (\log u)_t \right\} ds. \end{aligned}$$

Applying Theorem 2.1, we get

$$\begin{aligned} \log \left(\frac{u(x, t_1)}{u(y, t_2)}\right) &\leq \int_0^b \left\{ \sum_i |a_i| |X_i \log u| + \frac{(t_2 - t_1)}{b\delta} (C_1 t^{-1} + C_2) \right. \\ &\quad \left. - \frac{(t_2 - t_1)}{b} \left(\delta^{-1} \sum_i |X_i \log u|^2 - X_0 \log u\right) \right\} ds \end{aligned}$$

$$\begin{aligned}
 &\leq \int_0^b \left\{ \sum_i (|a_i| |X_i \log u| - \frac{(t_2 - t_1)}{2b\delta} |X_i \log u|^2) \right. \\
 &\quad \left. + \frac{(t_2 - t_1)}{b\delta} (C'_1 t^{-1} + C'_2) \right. \\
 &\quad \left. + \frac{(t_2 - t_1)}{b\delta} \sum_i \left( c\delta |X_i \log u| - \frac{1}{2} |X_i \log u|^2 \right) \right\} ds \\
 &\leq \int_0^b \left\{ \frac{\delta b}{2(t_2 - t_1)} \sum_i |a_i|^2 \right. \\
 &\quad \left. + \frac{(t_2 - t_1)}{b\delta} \left( C'_1 t^{-1} + C'_2 + \frac{mc^2\delta^2}{2} \right) \right\} ds. \tag{3.3}
 \end{aligned}$$

Since  $t = (b - s)t_2/b + st_1/b$ , and  $\gamma$  is admissible, (3.3) gives

$$\log \left( \frac{u(x, t_1)}{u(y, t_2)} \right) \leq \frac{\delta b^2}{2(t_2 - t_1)} + C'_1 \delta^{-1} \log \left( \frac{t_2}{t_1} \right) + \left( C'_2 \delta^{-1} + \frac{mc^2\delta}{2} \right) (t_2 - t_1).$$

Because  $\gamma$  is an arbitrary admissible curve between  $x$  and  $y$  we therefore obtain

$$\log \left( \frac{u(x, t_1)}{u(y, t_2)} \right) \leq \frac{\delta d(x, y)^2}{2(t_2 - t_1)} + C'_1 \delta^{-1} \log \left( \frac{t_2}{t_1} \right) + \left( C'_2 \delta^{-1} + \frac{mc^2\delta}{2} \right) (t_2 - t_1).$$

The theorem follows by taking exponentials of the above inequality.

If we apply Theorem 2.2 instead, the same method yields

**Theorem 3.2** *Let  $u(x)$  be a positive solution of the equation*

$$Lu(x) = 0$$

*on  $M$ . Then there exists a constant  $\delta_0 > 1$  such that for any  $\delta > \delta_0$  and  $x, y \in M$ , we have*

$$u(x) \leq \exp(Cd(x, y))u(y)$$

*for some positive constant  $C$ .*

Various mean value type inequalities can be obtained from Theorem 3.1 and Theorem 3.2. For example, we have

$$u(x, t_1) \leq \left( \int_{B_x(r)} u^2(y, t_2) dy \right)^{1/2} \left( \frac{t_2}{t_1} \right)^{C_4} \exp \left( \frac{\delta r^2}{2(t_2 - t_1)} + C'_5(t_2 - t_1) \right). \tag{3.4}$$

#### 4 An upper estimate for the heat kernel

Let  $M$  be a compact manifold with a positive measure  $\mu$ . Let  $X_1, X_2, \dots, X_m$  be smooth vector fields on  $M$  satisfying Hörmander's condition and condition (2.2). We assume that the operator  $L = \sum_i X_i^2 - X_0$  is self-adjoint with respect to the measure  $\mu$ . Our goal in this section is to derive an upper estimate for the fundamental solution  $H(x, y, t)$  of Eq. (1.1) on  $M \times M \times (0, \infty)$ .



Let  $d(x, y)$  be the distance function on  $M$  as defined in (3.1) and

$$\rho(x, y, t) = \frac{1}{2t} d^2(x, y), \quad (t > 0). \tag{4.1}$$

For  $d(x, y)$  we have

$$\sum_i |X_i d|^2(x, y) \leq 1$$

in the weak sense on  $M$ . Therefore  $\rho(x, y, t)$  satisfies

$$\frac{1}{2} \sum_i |X_i \rho|^2 + \rho_t \leq 0. \tag{4.2}$$

Define

$$g(x, y, t) = -\rho(x, y, (1 + 2\alpha)T - t). \tag{4.3}$$

Then we also have

$$\frac{1}{2} \sum_i |X_i g|^2 + g_t \leq 0. \tag{4.4}$$

Following [8] we set

$$F(y, t) = \int_{S_1} H(y, z, t) H(x, z, T) dz$$

for  $x \in M, 0 \leq t \leq \tau < (1 + 2\alpha)T$ , and  $S_1 \subseteq M$ . Then for any subset  $S_2 \subseteq M$ , we have

**Lemma 4.1**

$$\begin{aligned} \int_{S_2} F^2(z, \tau) dz &\leq \int_{S_1} H^2(x, z, T) dz \sup_{z \in S_2} \exp(-\rho(x, z, (1 + 2\alpha)T)) \\ &\quad \times \sup_{z \in S_2} \exp(\rho(x, z, (1 + 2\alpha)T - \tau)). \end{aligned}$$

*Proof.* As a function of  $y$ ,  $F(y, t)$  satisfies Eq. (1.1), therefore

$$0 = 2 \int_0^\tau \int_M e^{\theta(x, y, t)} F(y, t) \left( L_y - \frac{\partial}{\partial t} \right) F(y, t). \tag{4.5}$$

Integrating the right hand side of (4.5) by parts and using (4.4) we get

$$\begin{aligned} 0 &= -2 \int_0^\tau \int_M e^\theta |X_i F|^2 - 2 \int_0^\tau e^\theta F \sum_i X_i F X_i g \\ &\quad + \int_0^\tau \int_M e^\theta F^2 g_t - \int_M e^\theta F^2|_{t=\tau} + \int_M e^\theta F^2|_{t=0} \\ &\leq - \int_M e^\theta F^2|_{t=\tau} + \int_M e^\theta F^2|_{t=0} \\ &\quad - 2 \int_0^\tau \int_M e^\theta \sum_i \left( X_i F + \frac{1}{2} F X_i g \right)^2. \end{aligned}$$

Hence

$$\int_M e^{\theta(x,y,\tau)} F^2(y, \tau) \leq \int_M e^{\theta(x,y,0)} F^2(y, 0).$$

But

$$F(y, 0) = \begin{cases} H(x, y, T), & \text{if } y \in S_1; \\ 0, & \text{otherwise.} \end{cases}$$

Thus

$$\int_M e^{\theta(x,y,0)} F^2(y, 0) \leq \sup_{z \in S_1} \exp(-\rho(x, z, (1 + 2\alpha)T)) \int_{S_1} H^2(x, z, T) dz.$$

On the other hand

$$\begin{aligned} \int_M e^{\theta(x,y,\tau)} F^2(y, \tau) &\geq \int_{S_2} e^{\theta(x,y,\tau)} F^2(y, \tau) \\ &\geq \inf_{z \in S_2} \exp(-\rho(x, z, (1 + 2\alpha)T - \tau)) \int_{S_2} F^2(z, \tau) dz. \end{aligned}$$

This proves Lemma 4.1.

**Theorem 4.1** *Let  $X_1, X_2, \dots, X_m$  be smooth vector fields on a compact manifold  $M$  satisfying Hörmander's condition and the condition (2.2). Let  $L$  be self-adjoint with respect to the measure  $\mu$  on  $M$ . Then for some  $\delta > 1$  and  $0 < \varepsilon < 1$ , the fundamental solution  $H(x, y, t)$  of Eq. (1.1) satisfies the estimate*

$$H(x, y, t) \leq C(\varepsilon)^\delta V^{-1/2}(B_x(\sqrt{t})) V^{-1/2}(B_y(\sqrt{t})) \exp\left(C'_5 \varepsilon t - \frac{d^2(x, y)}{(4 + \varepsilon)t}\right)$$

where  $C(\varepsilon)$  depends on  $\varepsilon$  with  $C(\varepsilon) \rightarrow \infty$  as  $\varepsilon \rightarrow 0$ .

*Proof.* Applying Theorem 3.1 to the function  $F(y, t)$  in Lemma 4.1 and take  $S_1 = B_y(\sqrt{t})$ ,  $S_2 = B_x(\sqrt{t})$  with  $\tau = (1 + \alpha)T$ , we have

$$\begin{aligned} \left(\int_{B_y(\sqrt{t})} H^2(x, z, T) dz\right)^2 &\leq V^{-1}(B_x(\sqrt{t})) \int_{B_x(\sqrt{t})} F^2(z, (1 + \alpha)T) dz \\ &\quad \times (1 + \alpha)^{2C_4} \exp\left(\frac{\delta t}{\alpha T} + 2C'_5 \alpha T\right) \\ &\leq V^{-1}(B_x(\sqrt{t})) \int_{B_y(\sqrt{t})} H^2(x, z, T) dz (1 + \alpha)^{2C_4} \\ &\quad \times \exp\left(\frac{\delta t}{\alpha T} + 2C'_5 \alpha T + \frac{t}{2\alpha T} - \inf_{z \in B_y(\sqrt{t})} \rho(x, z, (1 + 2\alpha)T)\right). \end{aligned}$$

So we obtain

$$\int_{B_y(\sqrt{t})} H^2(x, z, T) dz \leq V^{-1}(B_x(\sqrt{t})) (1 + \alpha)^{2C_4} \exp\left(\frac{(2\delta + 1)t}{2\alpha T} + 2C'_5 \alpha T\right) \\ \times \exp\left(- \inf_{z \in B_y(\sqrt{t})} \rho(x, z, (1 + 2\alpha)T)\right).$$

Applying Theorem 3.1 once more to  $H(x, z, t)$  and setting  $T = (1 + \alpha)t$ , this yields

$$H^2(x, y, t) \leq V^{-1}(B_y(\sqrt{t})) \int_{B_y(\sqrt{t})} H^2(x, z, T) dz (1 + \alpha)^{2C_4} \exp\left(\frac{\delta}{\alpha} + 2C'_5 \alpha t\right) \\ \leq V^{-1}(B_x(\sqrt{t})) V^{-1}(B_y(\sqrt{t})) (1 + \alpha)^{4C_4} \exp\left(\frac{(4\delta + 2\alpha + 1)}{2\alpha(1 + \alpha)}\right. \\ \left. + 2C'_5 \alpha (2 + \alpha)t\right) \\ \times \exp\left(- \inf_{z \in B_y(\sqrt{t})} \rho(x, z, (1 + \alpha)(1 + 2\alpha)t)\right). \quad (4.6)$$

If  $x \in B_y(\sqrt{t})$ , then

$$\inf_{z \in B_y(\sqrt{t})} \rho(x, z, (1 + \alpha)(1 + 2\alpha)t) = 0 \geq \frac{d^2(x, y)}{2t} - \frac{1}{2}. \quad (4.7)$$

Otherwise,  $d(x, y) > \sqrt{t}$  and we have

$$\inf_{z \in B_y(\sqrt{t})} \rho(x, z, (1 + \alpha)(1 + 2\alpha)t) = \inf_{z \in B_y(\sqrt{t})} \frac{d^2(x, z)}{2(1 + \alpha)(1 + 2\alpha)t} \geq \frac{(d(x, y) - \sqrt{t})^2}{2(1 + \alpha)(1 + 2\alpha)t}.$$

Applying the inequality

$$(d(x, y) - \sqrt{t})^2 \geq \frac{d^2(x, y)}{(1 + \alpha)} - \frac{t}{\alpha}$$

to the above and setting  $2(1 + \alpha)^2(1 + 2\alpha) = 2 + \varepsilon/2$  we obtain

$$\inf_{z \in B_y(\sqrt{t})} \rho(x, z, (1 + \alpha)(1 + 2\alpha)t) \geq \frac{2d^2(x, y)}{(4 + \varepsilon)t} - \frac{2(1 + \alpha)}{\alpha(4 + \varepsilon)}.$$

This together with (4.6) and (4.7) proves Theorem 4.1.

*Acknowledgements.* We would like to thank the referees for their helpful suggestions. Most of the work was carried out while the authors were in San Diego. Some of the results of this paper was reported at the 1990 AMS Summer Institute at Los Angeles.

## References

1. Cheng, S.-Y., Yau, S.-T.: Differential equations on Riemannian manifolds and their geometric applications. *Commun. Pure Appl. Math.* **28**, 333–354 (1975)
2. Fefferman, C.L., Phong, D.H.: Subelliptic eigenvalue problems. In: Beckman, W. et al. (eds.) *Proceedings of the conference on Harmonic Analysis in Honor of Antoni Zygmund*. (Wadsworth Math. Ser. 1981, pp. 590–606) Belmont, CA: Wadsworth 1983

3. Hörmander, L.: Hypoelliptic second order differential equations. *Acta Math.* **119**, 147–171 (1967)
4. Jerison, D.: The Poincaré inequalities for vector fields satisfying Hörmander's condition. *Duke Math. J.* **53**, 503–523 (1986)
5. Jerison, D., Sánchez-Calle, A.: Estimates for the heat kernel for a sum of squares of vector fields. *Indiana J. Math.* **35**, 835–854 (1986)
6. Kusuoka, S., Stroock, D.: Application of Malliavin Calculus (Part III). *J. Fac. Sci. Univ. Tokyo Sect. IA Math.* **34** (no. 2), 391–442 (1987)
7. Kusuoka, S., Stroock, D.: Long time estimates for the heat kernel associated with a uniformly subelliptic symmetric second order operator. *Ann. Math.* **127** (no. 1), 165–189 (1988)
8. Li, P., Yau, S.-T.: On the parabolic kernel of the Schrödinger operator. *Acta Math.* **156**, 153–201 (1986)
9. Melrose, R.: Propagation for the wave group of a positive subelliptic second-order differential operator. In: Mizohata, S. (ed.) *Hyperbolic equations and related topics*, pp. 181–192. Boston, MA: Academic Press 1986
10. Nagel, A., Stein, E.M., Wainger, S.: Balls and metrics defined by vector fields I: Basic properties. *Acta Math.* **155**, 103–147 (1985)
11. Rothschild, L.P., Stein, E.M.: Hypoelliptic differential operators and nilpotent Lie groups. *Acta Math.* **137**, 247–320 (1977)
12. Sánchez-Calle, A.: Fundamental solutions and geometry of the sum of squares of vector fields. *Invent. Math.* **78**, 143–160 (1984)
13. Yau, S.-T.: Harmonic functions on complete Riemannian manifolds. *Commun. Pure Appl. Math.* **28**, 201–228 (1975)